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TEXAS A&M UNIVERSITY MATHEMATICS
' ' College of Arts Math 142 - Spring 2024

. & Sciences WIR 9: 4.1, 4.2
X = x'
Problem 1. Find the following indefinite integiais, 1 = x°

(1) /{ (53:4 —2° 4 62 — 2) du bl <
, teul W\ uvr Van~ble |
> Teus a-m W~ ‘t@ Al A_x_-. .

= gSX*AK + &-x"’vbc + &Qxe(x + &’7—4&

= ng‘*&a —Lgx?wtx + Gxxolx ~zg1dx

= 5(5""'\ -1 xw)-r é(x'*\ -2 Xoﬂ) + C
oA 2+l 1\ o=l

Y 20 > 2 x C
1 _ &xS _ X Ex” - X
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= UL 4+ L + C
4+ A
.
= U?L + &": +C = Z—Uv‘ + 2«
¥ V2 S

(3) /(2614-%4‘%) dx i
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Problem 2. If y = — + — an X~ A
T =i+
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.1+
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f{:(x) = ‘3 = 3lw\x\ - ;Lg +C

u’ \
= &\v\\x\ - é'( +2 1
Problem 3. What is the mg&t génsralantiderivative of f(z) = 3ve — — — z%/%7
T

—

S'f‘x)*x = gB&-;li-xa’%M

2 - S/
=3 _X_ - )(_' - X_L + ¢
% (Ga)) S

Problem 4. Rewrite the integral / (z +4)e3z2+24x dx in terms of u after an appropriate u-

= S (x4 e(gmg — .
. oy ]

. du - 6 Y = 6(7(“"".)
- &C/*J@ Lty e < 3. +290) J= Gx a2

substitution.
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le'*** =1t +C A = folx dX =D dx= da
¢ 6Gr) 6G<+4)
(35(’1—2**)
=€ +C
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Problem 5. Find the following indefinite integrals using the appropriate u-substitution.

du= 8dx D %:M
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(s) = 1800

t=o- !
Problem 6. Yearly sales of a particular item are expected to d¢crease at a raie of s(t) = —24t%/3
items per year, where ¢ is time, in years. If yearly sales now are 1800 items, find a function S(t),
which will represent the number of items sold each year.

- s At < —on [ £
8({:) = & S = & -24% & = -2\ %
S,
I N G W O NS
“ar) s
3

£(®

«

S
- 3 (&
(- zw)(g) ;\: +
(_2% S +C <= 1800 = (=809
2)o

bt SO - (-m@yc* + 1800

prgin too

S(=)

Problem 7. The ris:gingl revenue function for a company that sells barbecue grills is given by
7} = —0.08x + 350 dollars per grill sold. Find the company’s revenue function, in dollars,
when z grills are sold. RO
R'(xD= — 0:08x +350 Tabal condiben
2
K(o) <=0
/
S%go dx < 2@& L dx
= & (— 0-08x +3s0 ) dx
—oo4 C =280
- (— 0O . +
R(x) < ( o/wz ) X« 350.X
x
@ x=o Rx) = O to+c =0 = (=0
Am:  R&) = —00%x" +350x
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Problem 8. If the :areinai cost function for a company is given by f{¢) = 0.12e%%4 dollars
per item, and if the company has fixed costs of53000 where x represegnts the number of items

proWny’s total cost when 1hU Ttems are produced.
> ! .
& nesd do fird cothfunchon frsk
o~ S .
v O OMX
“}r"‘oy) &) = & J}(x)otx = S 0:12¢ dx

= (o) &60'0‘%(@

U= O'O#X
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O 'O% Xx -
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= p"’— Cual“ AX O o4

y(
004X

) = de +C = de ¢
Wit <o o) = 3.€ rC

=3+C = 3007

2.C = 3000-3 = 219+

0. O%X
S C)= 3e + 29?7

o (0
) = ae’” ® ot

= $y20%. 27

Math 142 WIR Page 9



